JSUNIL TUTORIAL PUNJABI COLONY GALI NO. O1
o Triangle

. In AABC, AB = 4cm and BC = 5cm. Find the greatest angle.

. In AABC, if AD is the bisector of ZA, show that AB > BD.

. O is a point in the interior of A ABC, prove AB + AC > OB + OC

. AD is a median to side BC of A ABC. Prove that AB + AC > 2 AD.

. Show that the difference between any two sides of a triangle is less than the third side.
. In AABC AP L QR show AR > AQ

Q 1 Line segment AB is parallel to another line segment CD. O is the mid point of AD Show that
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(i) AAOB = ADOC (ii) O is also the mid point of BC.
Q. 2 ABCD is a quadrilateral in which AD = BC and DAZ B =ZCBA . Prove that
(i) AABD = ABAC
(i) BD = AC
(iii) «ABD = #ZBAC.
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Q. 3 Line | is the bisector of an angle ~ZA and B is any point on |. BP and BQ are perpendiculars
from B

to the arms of £A. Show that

(i) AAPB = AAQB

(i) BP = BQ or B is equidistant from the arms of ZA.




Q.4 AC = AE, AB = AD and ZBAD = ZEAC. Show that BC = DE.
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Q.5 AB is a line segment and P is its mid-point. D and E are points on the same side of AB such
that

«/BAD = ZABE and ~EPA = ~#DPB. Show that

(i) A DAP = A EBP

(i) AB =BE
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Q. 6 Inright triangle ABC, right angled at C, M is the mid-point of hypotenuse AB. C is joined to
M and
produced to a point D such that DM = CM. Point D is joined to point B. Show that
(i) AAMC = ABMD
(i) «DBC is aright angle
(iii) ADBC = AACB

(v)CM = AB
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Q. 7. Ifinatriangle ABC, the bisectors of the angles ABC and ACB meet at M, prove that

ZBMC = 907 + %;ﬁﬁ«.




